CO$EL |

B P & PAA Series Attachment

BASE Attachment Plate model | Applicable to model
F-K15-1 [P15
F-K25-1 | P30
F-K50-1 | P50 - PAASQ Example

F-PAA75-1| PAA75
F-P100-1 |P100-PAA100
F-P150-1 |P150-PAA150

{TOP VIEW (Unit: mm) (Tolerance : 1)

F-K15-1 F-K25-1
Size Size =
; g ! 4 . - ':iI LL
0] = = @ 0] & 2
N~ | = !
R 2-¢3.5
2:035 55 99 15 121.5
109 * Material : SPCC 134 % Material : SPCC
* Thickness : 2.0 * Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size 2-M3 Mounting hole size 2-M3
””””””””””” 0 e [to)
FRONT € % ””””””””””” ™ FRONT¢ % ***************** ~
‘ 99 \ ‘ 121.5 \
F-K50-1 F-PAA75-1
. [Te}
Size 5 Size
i T , =
?; o 4 T - < f
kY N = L w0 < n o
0 Q ) (:l o
o Eﬁi o ¢ ! © l
4-935 ;o 160 3-435 ¢
55 ‘ * Material : SPCC 185 * Material : SPCC
171 1 % Thickness : 2.0 195 % Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size 3-M3 Mounting hole size M3
e 5 FRONT € S
FRONT € = § O ¥ o
| P S i
F-P150-1
Si 0 Si )
ize N ize Ny
I I . 1]
o AT | . 4
© 33 7 © 38
<] {}j TT L i Q ot T
;}
3-¢64.5 ‘ - 3-¢4.5
| 199.: * Material : SPCC 5 209 % Material : SPCC
209.5 % Thickness : 2.0 219 * Thickness : 2.0
* M4 x 8¢ Flat screw is requested when mounting.
Mounting hole size 3-M4 Mounting hole size %
FRONT¢ 82 FRONT € 8o
::::::::::::::::::::::::::::::fﬂ iﬁ:ﬁi:::iﬁ:i:::i:::i:::fﬂ
199.5 209

J-2



CO$EL

Example
FRONT - REVERSE | _Plate model Applicable to model
Attachment F-K15-2 |P15
F-K25-2 P30
F-K50-2 P50 - PAAS0
F-PAA75-2 | PAA75
F-P100-2 | P100-PAA100
F-P150-2 |P150-PAA150
{TOP VIEW) (Unit: mm) (Tolerance : £1)
F-K15-2 F-K25-2
Size Size
100.5 —i 3-¢3.5 125.5 —i 3-¢3.5
1 A T rams
810 0 o O 3 S+ 8]0 0 O i S+
1 P2 % re
| | g | | S s
101::45* S 10[::*15*
35— 35—
* L
% Material : SPCC * Material : SPCC
— % Thickness : 1.6 - % Thickness : 1.6
F-K50-2 F-PAA75-2
Size Size
1 o 3-¢3.5
162 . 3-¢3.5 T 179 |
o) o
T ° ° K =1 . L
ile ° SlE s ° ‘ Fe
10042 S
le—35—» !
f
{
* Material : SPCC * Material : SPCC
* Thickness : 1.6 % Thickness : 2.0
F-P100-2 F-P150-2
Size Size
193 . 3-94.5 202 " 3:04.5
LT T : N
R . o {%7‘?1 8 © i = f**%I
! 3 o N | i
i ! 1Y o | S
0 : ¥
30 & 10 30 2
50— U™ ~
t'—soa -
£ C
* Material : SPCC * Material : SPCC
* Thickness : 2.0 ! % Thickness : 2.0




CO$EL |

B R Series Attachment

BASE Attachment Plate model Applicable to model
F-R10-1 R10A
F-R15-1 R15A
F-R25-1 R25A Example
F-R50-1 R50A (R100)
F-R100-1 R100
F-R150-1 R150
{TOP VIEW (Unit: mm) (Tolerance : +1)
F-R10-1 F-R15-1
Size 0 Size 94
-
T 5 84
(e} e} SFN
P =) I'le
45— 68— F N 5
2-$3.5/ 775 | | 2-¢3.5
* Material : SPCC * Material : SPCC
* Thickness : 2.0 % Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting. * M3 x 8¢ Flat screw is requested when mounting.
Mounting hole size o3 Mounting hole size 2-M3
FRONT ¢ o
FRONT¢ | s
f 84
F-R25-1 F-R50-1
Size 114 Size 129
5 104 5 119
BE r B
; Q9 ]ﬂ 5 2 o = ?
l ' 2-63.5 l
* Material : SPCC 2.635 * Material : SPCC
* Thickness : 2.0 = * Thickness : 2.0
* M3 x 8¢ Flat screw is requested when mounting.
Mounting hole size 2-M3 Mounting hole size 2-M3
e § ol ERONT€ N 7 L0
FRONT€ | S ONT 149
104 119
F-R100-1 F-R150-1
Size 172 Size 187
6.5 159.5 13.5 167.5
~
13 ) - L
o) O . o
38, - 7 3 p i
| 5O (@) i [e)
* Material : SPCC * Material : SPCC
3-64.5 % Thickness : 2.0 3-44.5 * Thickness : 2.0
* M4 x 10¢ Flat screw is requested when mounting.
Mounting hole size M4 Mounting hole size 3-M4
FRONT¢ N FRONT¢ 8
o e
159.5 Lo 167.5 2

J4



CO$EL

Optional Parts

Example

FRONT - REVERSE Plate model Applicable to model
F-K10-2 R10A
Attachment FRIES RISA
F-R25-2 R25A
F-R50-2 R50A
F-R100-2 R100
F-R150-2 R150
{TOP VIEW ) (Unit: mm) (Tolerance : +1)
F-K10-2 F-R15-2
Size Size
69 3-63.5 T 85.5 3
f 7 ] f
Nlo 00 o H— 10 & ? At
x 1o e 1
0p—~As o i Lhes 10L15 ® a5
35— :
* Material : SPCC * Material : SPCC
* Thickness : 1.6 * Thickness : 1.6
F-R25-2 F-R50-2
Size Size
105.
S Tes 1205 2-¢4.0
t J} )8 ; f 4 4
9 | 0 ) 8 oo od T .
} | } 4 ; g
15
10> [Saamas 6.5 10
t%a $3.5 [ a5 . \835
[ I U
* Material : SPCC * Material : SPCC
%* Thickness : 1.6 * Thickness : 1.6
F-R100-2 F-R150-2
Size Size
2-¢5.0
‘7161.54‘1 2-¢5.0 7
J) o ¥ &) ) ‘\ ij
< o © $TiT r T N
TLe 0 = i 9
)
'I_SJ 16.5~ 10‘ 15 gd) lete—30—+ o
Lssa 45 50 $4.5
| H‘
* Material : SPCC * Material : SPCC
* Thickness : 1.6 % Thickness : 2.0

J-5




CO$EL |

Bl PB Series Attachment

BASE Attachment Plate model Applicable to model
F-PBA10-1 PBA10OF
F-PBA15-1 PBA15F, PBW15F
F-PBA30-1 PBA30F, PBW30F Example
F-PBA50-1 PBA5S0F, PBW50F
F-PBA75-1 PBA75F
F-PBA100-1 PBA100F
F-PBA150-1 PBA150F
{TOP VIEW (Unit: mm) (Tolerance : 1)
F-PBA10-1 F-PBA15-1
Size Size
2-93.5 2-¢3.5
© © 5h8 © 58
Lnjf & ? l Ln}f & %o' l
I f
78 5 o5 5
aa % Material : SECC U"E o
i % Thickness : 2.0 105 I-’:—Arﬁéirrl]ils'ss:g(_:oc
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
2-M3 2-M3
ra— o«
) o
32} [92]
FRONT ¢« @ = FRONT€ =
78 95
F-PBA30-1 F-PBA50-1
Size 2-¢3.5 Size ©
‘ ! "L
© 7y 9 © ™
'-0% il ? ‘ L I {? J \
I 113 5 3-43.5 z | %28 !
123 * Material : SECC * Material : SECC
* Thickness : 2.0 * Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
/M 3-M3
FRONT¢ g FRONT¢ iﬂ‘o
1T
113 130

J-6




CO$EL |

{TOP VIEW (Unit: mm) (Tolerance : +1)
F-PBA75-1 F-PBA100-1
Size ? Size ?
| gl L i
I\ - - o N
™ © © 0% ™ © © o
L, o] L, > G
3-635 g1 145 i 3038 ¢ 157 |
155 167
* Material : SECC * Material : SECC
* Thickness : 2.0 * Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
3-M3 3-M3
1L b
FRONT« ET‘ FRONT€« :L‘T‘
145 157
F-PBA150-1
Size ©
|
4 1
o © © N
L, ol |
3-¢3.5 | 1 178 |
188
* Material : SECC
* Thickness : 2.0
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size
3-M3
2
FRONT ¢ jlﬁ
178




CO$EL |

FRONT - REVERSE Plate model Applicable to model
F-PBA10-2 PBA10OF
Attachment F-PBA15-2 PBA15F, PBW15F
F-PBA30-2 PBAS30F, PBW30F
F-PBA50-2 PBAS50F, PBW50F
F-PBA75-2 PBA75F
F-PBA100-2 PBA100F
F-PBA150-2 PBA150F

Using hole-A 9 Using hole-B
{TOP VIEW (Unit: mm) (Tolerance : +1)
F-PBA10-2 F-PBA15-2
Size Size
hole-B  hole-B hole-A hole-B
68.5 3-635 85.5 3035
B B
ol 4 T -7 4 #
iR i il 1 5
hole-A \hole-A £r3‘51i =) \hole-B \hole—Ai&ié.i =)

* Material : SECC * Material : SECC
* Thickness : 1.6 * Thickness : 1.6
F-PBA30-2 F-PBA50-2
Size Size
hole-A hole-B hOIE_é . hole-B 3-63.5
1035 3—¢1i.35 123
7 ; 7 ;
0 ~
0 || » 0
LY | K [y i 2
— L
hole-B \hole—Aiaaéli S \hole-8 \hole-A ﬁ]ﬁi "

* Material : SECC * Material : SECC
% Thickness : 1.6 * Thickness : 2.0

J-8



CO$EL |

{TOP VIEW ) (Unit: mm) (Tolerance : +1)
F-PBA75-2 F-PBA100-2
Size Size
hole-A hole-B hole-B hole-A
- 3-93.5
138 3-¢3.5 150
™ K C\ I'-f? ™ x | 0
| \ N ] i 1 |':.
hole-B \hole-A k15-f25— r~ hole-A hole-B, tl&fzs— ~
s hole-B hole-A 45
€
* Material : SECC * Material : SECC
* Thickness : 2.0 * Thickness : 2.0
F-PBA150-2
Size
hole-A hole-B 3.035
17k

—38—
N
o
221

\hole-B

\hO'iA l:l 5+—25— | ®©

45—

* Material : SECC
%* Thickness : 2.0




CO$EL |

l Attachment for Replacement

This is an attachment when replacing to PBA series
from P - PAA series.

Example
Plate model Applicable to model (PBASOF)
F-PPBA15-1 P15—>PBA15F
F-PPBA30-1 P30 ~>PBA30F
F-PPBA50-1 P50, PAASOF > PBAS0OF
F-PPBA75-1 PAA75F—~> PBA75F
F-PPBA100-1 | P100, PAA10OF ~>PBA100F
F-PPBA150-1 | P150, PAA150F ~>PBA150F (Unit : mm) (Tolerance : +1)
Size - Size -
2-M3 ] 2-M3 !
[Ts] P [Ts] F
2-¢z§ ‘,:;[ I 2-635 \ <P
& N o4 N
— :4 | o 24 ] ‘ (3]
ol o ol Y d
f3.9] 74 7 X
5 82 5 105 Un
99.5 83 15
124.5
o o O o
B B
* Material : SECC * Material : SECC
* Thickness : 1.6 * Thickness : 1.6
Mounting Mounting
P15 PBAI15F P30 PBA30OF
1
S - When change to o L ) When change to
‘ 00 : PBALSF, external ‘ oo H PBA3O0F, external
| © © size becomes i o © - size becomes
{ ;)' larger. A S ) larger.
(BOTTOM VIEW) (BOTTOM VIEW)
* M3 x 8¢ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
2-93.5 2-¢3.5
FRONT ¢ S FRONT €« % &
74— | 83 |

J-10



CO$EL

(Unit : mm) (Tolerance : £1)

F-PPBA50-1 F-PPBA75-1
Size 159 N Size 175 ]
M3 127 o 33 125 35
e ! =
: il : 7L
o ° DL | ° ° LTS
ESi $4 . 2-635 i ‘ ol BE ‘
35 [ = "’f7 o |64 \2-635
7.5 143 4 : 159 5
e @ % Material : SECC @
M i * Thickness : 1.6
ounting * Material : SECC
P50 PAASOF PBASOF * Thickness : 1.6
|
[Te)
777777 f
§ When change PAASOF
[Q— to PBASOF, external
U size becomes
i larger.
Ll
L
L
.
P -
e X
(SIDE VIEW)
* M3 x 8¢ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
127 125
3-¢35 3-¢35
FRONT¢ S < FRONT¢ S S
g 4
F-PPBA100-1 F-PPBA150-1
Size 189 Size 199
100 74 100 80
3-M4 T ‘ T
fih & S b 0 Qw
25 i m 5 5
N~ 1
S o —o 1 L3 L o o SR L 3
L ‘ & < —© =m0
A | =
04.5 55 ©
f 4.5 3-M4 | 75
@ \ [oe]
: * Material : SECC * Material : SECC
Mounting % Thickness - 1.6 * Thickness : 1.6
P100,PAA100F PBA100F
When change to
PBA10OF, external
size becomes
larger.
(SIDE VIEW)
* M3 x 8¢ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
100 100
3-94.5 mr & 3-64.5 e
FRONT € S TCQ FRONT ¢ S T(u\a‘
et od

J-11




CO$EL |

l Attachment for Replacement

This is an attachment when replacing to PMC series
from KMC - 2KMC series.

Example
Classification Plate model Applicable to model (PMC15)
Vertical F-KMC15-1 KMC15
PMC15
Horizontal F-KMC15-2 2KMC15 -
Vertical F-KMC30-1 KMC30
Horizontal F-KMC30-2 2kmc3o - TMes0 Vertical Horizontal
(Unit : mm) (Tolerance : +1)
Size 2-M3 Tap Size 2-M3 Tap .
> o35 55 29 4 4-¢3.5
: 15.5
04 74 2
N 4 1 [T Te) T T
il I L 4 i
5 ) I O ¥ N, Lo
x ﬁ )P I wo®
o~
* 1 L
5 96 oo
1125 %* Material : SPCC 99 s % Material : SPCC
;% Thickness : 1.6 111 % Thickness : 1.6
M y
@ |:\\ _ _ /_, o
Mounting When change to Mounting When change to
0 PMC15 KMC15 PMC15, external PMC15 KMC15 PMC15, external
1 £ ya size becomes s v size becomes
— CN2 larger. N ¥ ,‘41, larger.
ﬂﬂ ﬂﬂ( | e
i I
| Rl
! |
(TOP VIEW) Replacement metal ~ (SIDE VIEW)
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size 2635 Mounting hole size 5 635
me Lssf
F-KMC30-1 F-KMC30-2
Size Size 2-M3Tap
100 23—+
o4 2-M3 Tap 2-935,"| i !
’*19—' 83 —- - P — e — e — - R R R 2
¥ l ©
- / T !
S ? 2 S
wn T L]
s} ‘\ RN
E ! 133 :
146
136 2-¢3.5
146 = S @
— Mountin * Material : SPCC
\ 7 © g PMC30  KMC30 ©, % Thickness : 1.6
[ Fom I
| |
i 1 When change to
""" ~N— ] PMC30, external
* Material - SPCC Replacement metal (SIDE VIEW) Efgetr)écomes
* Thickness : 1.6
* M3 x 6£ Flat screw is requested when mounting.
Mounting hole size Mounting hole size
2-¢35 2-93.5
Option T 83 T 100

J-12



CO$EL

ADA Series

Special attachment for installation of ADA Series is prepared.

Installation attachment type Model
F-ADA-1 ADA Series
F-ADA-2 ADA Series
F-ADA-3 ADA Series
F-ADA-4 ADA Series
F-ADA-5 ADAGOOF

*Refer to Instruction Manual 2.3 for installation A, B and C.

F-ADA-1 F-ADA-2 F-ADA-3
5 29 2-(C2) /%%); +

or R2 [ ey —
/ X 3t &
) = o
" 2-645 SR hole-B By
o b i
® 8
|
(R2) 3
A | | W)
- O
~ -
Z% hole-A
5 29 2-(C2)
‘ /or R2
8 A
o IR (R2) 4-(R2
L=l
3 \] = — 6-04.5
””””””””””””” 2-$45 2-(C2) » == =
I ~ orR2 S T¢ ol
39 0 N = / )|
& 2 w
o 5 === . -~ _4-(C2) 15 .
*Material:SPCC t=2.0 *Material:SPCC t=2.0 or R2 == *Material: SPCC t=2.0

Itis possible to comply
with installation A
because the space is
kept by 30mm.

. . . . - X @Using hole-A @Using hole-B
@Itis use in accordance with @Itis use in accordance with It is use in accordance with It is use in accordance with
installation B. installation A. installation B. installation A.

F-ADA-4 F-ADA-5

2-(C2) 62
//orR2 18.5 25
N N
n
™ |
o 2-64.5 B¥[ N 4-64.5
2 it
¥
& (R2) 8.5 35
35 8.5)
2-(C2) 104
/or R2 80 )
0 () ’a"m &
o
N N $4.5 | i
445 R
~ =
=t
410 66 $10
*Material:SPCC t=2.0 *Material:SPCC t=2.0

It is use in accordance
with installation C.
It is possible to comply

It is possible to install
from the rear, and to
use from the front.

with installation A or B (Only ADAB0OOF)
when the power supply
is vertically installed. (rear)

1o~
(front)

J-13



